Maths Homework Y5 Mr Masingiri
Date set: 10/11/20
Date due: 16/11/20

You need to complete both sections

Section 1 -

1. 12,007 - 3,398 = 8,609
2. 12 x9=108

3. 59,573 + 23,803 = 83,376
4. Halve 56,250 = 28,125

5. 560+ 8 =70

6. Mr Masingiri drinks 7 cups of
coffee every day. How many cups does
he drink in 8 weeks?

7 x7 x 8 =392 cups!

Section 2 -
1. 50,000 + 6000 + 900 + 85 = b6, 985

2. Round 456,939 to the nearest 10, 100 and 1 000
and 10 000

456,940 (10) 456,900 (100)
457,000 (1000) 460,000 (10,000)

1. 9,000 + 7 hundreds + 31 ones = 9,731
2. 1,000 x 49 = 49,000
3. 266 x6 =1536

4. Complete the bar model:
MMCM

DCLXX

MMCCXXX




